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QUESTION 1

Referring to the exhibit, how much power will be lost from point A to point B assuming line of sight? 

A. 10 dB 

B. 6 dB 

C. 4 dB 

D. 3 dB 

Correct Answer: B 

 

 

QUESTION 2

What is the purpose of a Probe Request frame? 

A. to discover all clients associated to a particular WLAN 

B. to discover all WLAN devices on a particular channel 

C. to discover available WLANs 

D. to associate to a WLAN 
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Correct Answer: B 

Reference: https://www.juniper.net/documentation/en_US/junos-space-apps/network- director3.1/topics/
concept/wireless-scanning.html 

 

QUESTION 3

Which statement about RadSec is correct? 

A. RadSec allows RADIUS authentication over TCP and TLS. 

B. RadSec allows RADIUS authentication over TCP and SSL 

C. RadSec allows RADIUS authentication over UDP and TLS. 

D. RadSec allows RADIUS authentication over UDP and SSL. 

Correct Answer: A 

Reference: https://www.mist.com/documentation/radsec/#:~:text=RadSec%20is%20a%20protocol%20 which,security
%20through%20the%20transport%20layer 

 

QUESTION 4

How is the WLAN affected if Wi-Fi 6 is disabled? 

A. The maximum theoretical data rate is reduced. 

B. No Wi-Fi 6 clients will be able to connect. 

C. All clients will connect using Wi-Fi 5. 

D. No 802. 11ax clients will be able to connect. 

Correct Answer: D 

Reference: https://www.mist.com/documentation/disable-wifi-6/ 

 

QUESTION 5

Referring to the exhibit, you asked Marvis to troubleshoot a client. In this scenario, what did Marvis determine? 
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A. two authentication failures over this week 

B. two DHCP failures today 

C. DHCP errors over the past seven days 

D. two authentication failures today 

Correct Answer: A 

Reference: https://www.mist.com/documentation/mist-experience-marvis-client/ 
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